
Решение задач

Выполнила: студентка 1 курса 
ЭФ, Холшевникова Оксана, 
группа Э111б



Задача 1

Дано:

t
0 

= 1991                       s
0 

=148.6

t
1
= 2011                        sпр. 

= 143

Найти:

Kеп (ср) - ?



Решение





Вернемся к замене 

переменной :
К еп(ср) 

= -1,9206751011875755071214243438939

 

Ответ:

-1,9206751011875755071214243438939



Задача 2

Дано:

t
0 

= 2011             s
0 

=143

t
1
= 2050             sпр.1 

= 107

                            sпр.2 
= 150    

 Найти:

Kеп (ср) 
- ?



Решение





Вернемся к замене переменной 
:
К еп(ср) = -7,4363024563590027387444154489018

Ответ:
-7,4363024563590027387444154489018







Вернемся к замене переменной 
:
К еп(ср)=1,2254016368294479461170514180161

Ответ:
1,2254016368294479461170514180161


